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OVERVIEW

Combine Heat, Electricity, and Power

C.H.E.A.P

How to run a Prime Mover on on air and water to get cheap electricity Lecture Sheet 1 First understand how a simple internal combustion cycle works.  

1a Fuel: A hydrocarbon must mix with air under pressure. This will produce a volatile mix of liquid vapour from th hydrocarbon, which should push it close to its natural flashpoint.

1b Volatile: To self-ignite if close to its natural flashpoint, or be helped on its way by means of a weak spark.

1c The resultant explosion must force a piston down a cylinder.

1d A vacuum is created at the top of the cylinder. As the burning flame front/pressure wave advances in a minature fire-storm it will suck in the next fuel and air mixture charge.

1e Valves will be timed to open automatically to remove exhaust gasses, and let in the second fuel-air mixture

      All lecture sheets in this overview on C.H.E.A.P are supported by files in our http://212.100.224.237/ swashball/ 

2a First you must understand how to open our web site to view/open the files needed for any given lecture sheet.

2b For this lecture sheet the reference to open is L.I.A.T. Do not preface search with www.

2c You must use the return key to remove all the htpp://********.This code is found in the address bar.

2d Now type in our address: http://212.100.234.237/swashball/ and hit return key, and you should get index of/swashball

2e Print this page and use as a “Post-it.”

2f Now all you do is click on L.I.A.T

3  

Our system C.H.E.A.P will be built around one of the ‘greatest lessons in life’, That is, to know that even fools are right sometimes!

3a Our first foolish thought was to throw out the hydrocarbon and all the valves, along with their conventional mechanical linkages.

3b With only air and water to work with, our second foolish thought was to beef up the spark to kick it into the super-league, akin to a scaled-down lightning bolt.

4

Linear Ion Array Technology. (L.I.A.T)

4a  Now our brainstorming session was running out of control, as one foolish thought after another was was put into the mix to make C.H.E.A.P work  

4b Could L.I.A.T, which is our scaled down lightning bolt, instantaneously vaporise the air and water mix?

4c Would a nonosecond of disassociation give us short-lived burning gasses of hydrogen and oxygen?

4d  As L.I.A.T hits air only it will convert oxygen to short-lived O3 ozone gas.

4e Air is 75% nitrogen and 25% oxygen. LIAT converts non-volatile inert nitrogen gas into volatile oxides of nitrogen

4f  Ozone and oxides of nitrogen will sustain the burning of both oxygen and hydrogen. ( The Flywheel Effect)

5 All this comes at a price, as the cost input of electrical power to

keep LIAT plasma discharge running is very high, so the plasma discharge of LIAT must be provided in short pulses.

5a  Even so; If we put electricity in, we will get super-heated steam out.

5b At the start of this lecture sheet we had to understand how the Hc. icc engine works

5c At the end of this lecture sheet you have been told that exhaust gas is super-heated steam, which has oxides of nitrogen ie: acid rain.

5d    You must now understand that you cannot run an Hc.icc engine on super-heated steam.

5e In lecture sheet 2 the building blocks will in place to show how to build a starts off as as u/c then turns into a gas turbine and back into an engine that will run on super-heated steam.
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Lecture Sheet 2

Verchin Drive Swashball

Richard Vere-Compton @ David Chinery ~ Verchin.

Files: Film clip/ presentations. (two fils zip Power Point)

RCV Documents (master, Prome Copy I)

Swashball — eureka

The full swashball patent is:

USA patent 6.626.0.54.BC  30-09-2003

G.B patent 235 6437            16-11 2003

When you have viewed the above files you would not have seen how David Chinery used;

6 A two-row angular contact ballrace , pushed it over a plug which 

had a hole for a shaft drilled in it at a true diagonal, thus turning the plug into a cam.

6a  The ballrace with its plug/cam was pushed into a sphere which had both the north and south hemispheres cut away.

6b  What is an eccentric drive? It is a disc fixed mounted on a revolving shaft and fixed to a cam to throw it off-centre.

6c  This action will, if transferred to another body, will convert input rotary motion to linear motion.

6d  David Chinery patent states that the Verschin Drive Swashball must use parallel grooves  cut to run around the equator till the reach the edge, where the north and south hemispheres have been cut away.

   6e As in ^c, reaction to the eccentric will only take place in the grooves, cut into parallel reaction racks, can mate with the Swashball grooves.

7 Swahball—EUREKA, and the film clip, show how the 7 finger 

springs were pushed together under hand pressure to form a lamination. This could look like a pine cone or the overlapping plates of an armadillo.

   7a The above arangement was sent on to Verchin Holdings Ltd. (G.I.B) as Pine-O-Dillo, herafter reffered to as POD

   7b  The IPR stated it was a malleable stress shaft covering, with the potential to increase O.D. of a shaft by a ratio of 4:1

8 One of the assembly problems, which was not solved when the 

film clip was added to our website:-

8a   How do you compress each of the seven finger springs so they interlock to meet the 4:1 ratio?

8b This was solved when the company who stamped out finger springs understood how we intended to use them.

8c  When they came back from their store room they had handfulls of Bellville spring washers of two O.D sizes but the same I.D (The difference in O.D was 2cms.

8d  Put the different sizes together as an alternate lamination, and the result was a rack with grooves. If this sounds simplistic, bear in mind that the system used to rotate the jet exhaust nozzles on Harrier jump-jets is basically a motor-cycle chain attached to a gear and operated by a lever in the cockpit!

8e How to get the loose lamination of Bellville washers over the POD? This was solved in their workshop with a simple assembly tool.

9a  This tool was a key breakthrough and was made up as follows:- Cut off the top 25cms of a small 45 cms ‘Danger. Wet Floor!’ yellow warning cone.

9b Using 4cms thin-walled copper pipe, make just two saw cuts in the form of a cross as deep as the length of the cut-off end of the cone, on one end of the ppipe only.

9c  Spread out the cut ends and push the uncut end through the cut off top of the cone

9c  Pop rivet the spread-out ends to the inside of the cone.

9d  Leave enough tube protuding out of the cone to hold sufficient alternate lamination of Bellville washers, to slide over the length of the POD

9f As the assembly of POD springs are pulled/pushed through the cone, this action compresses the springs into a true POD.

9g Out comes the POD from the short length of copper pipe, and the loose lamination of alternate Bellville washers slide without fuss onto the POD.

9h quod erat demonstrandum:- A bevel cut rack on a strong malleable covering over a ridged drive shaft

9i  This arrangement solved one of the major headaches highlighted in the presentation; How to get the grooves/bevel cut racks to mate with the grooves/bevel cut on the Swashball, when the Swashball was at its most eccentric.

In Lecture Sheet 3 I will show how David Chinery prompted the design of the Ram vortex cylinder, which could be the worlds first internal combustion engine to run on super heated steam.
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Lecture Sheet 3

Ram Vortex Cylinder.

Files:- Swash-eureka         jpg

          golf-ball                   jpg

          flying sparks letter    jpg

          Stirling engine           jpg

          RVC Documents RVC master prime copy 1

10 David Chinery’s patent now opened up the possibility of removing

up to 75% of the parts of a conventional internal combustion engine.

10a The rest of the team came up with the Ram-Vortex Cylinder Engine (RVCE) to remove some more parts.

10b  The RVCE makes the best use of the linear motion by building two short double-headed pistons, out of the same parts that make up the parallel racks.

10c What then is an RVCE? It is a simple cylinder which has two short double-headed pistons.

10d  As in Lecture Sheet 1 we had the hydrocarbon internal combustion engine, for the RVCE we need a driving medium, and as we use no hydrocarbon we will refer to this as an energy transfer fluid or ETF.

10e ETF is injected into the left-hand cylinder head in the compression cycle, then to the right-hand cylinder, also in the compression cycle. Our RVCE is designed to accommodate not one but two short double-headed pistons.

10f  We can do this, as they are driven in linear motion by out USA/UK patented harmonic (eccentric) VDSB.

10g This is made possible since the RVCE does without conrods, crankshafts, and all the other associated linkages.

10f  Just as david Chinery’s VDSB removed 75% of the parts of a conventional engine, our pistons remove the need for piston rings, as they are sealed against the cylinder wall by pressure on the POD.

10g The sketch on the white board prompted the team as one to shout Eureka! as they realised the implications of the RVCE design.

10f  First the left-hand piston would resist the compression on the ETF until the malleable core/POD would deflect first one fin ( which makes up the grooves in the rack/piston), then the next until all the grooves had been overcome/deflected.

10g  We could all see the concept behind the white board sketch. It was as if each fin/BSW was acting as a pressure relief valve.

10h  \Energy was both consumed and then given up.

10i ETF was also being injected from right hand side to drive its piston head.

10j All this pressure/energy ends up in the third stage pressurisation chamber,which is the space/void between the two pistons and a mirror image of the working piston.

10k This space was described by a team member as akin to the bubble in a spirit level, first a little to the left then to the right until it was dead centre.

10l  When the third stage pressurisation chamber was at dead centre point, all this energy had to go somewhere, and without exit or exhaust valves, mission impossible.

10m The solution was to have a small number of tangential jets, allowing the exit ports to remain in the always open position.

10n  How then to close them off? This was solved by sleight of hand by the introduction of a freewheeling rotatry valve.

10o As a rotary valve it could use the OD of the RVC as a shaft. Now we had a rotary valve we could design it into the void of of a hub of a hot turbo compression drive wheel.

10p  We extend the blades of a single stage turbino wheel through its hub, then flatten some of the base blades out and make a mirror image curve to act as a shoe to some of the blades. What we had now was a mechanical commutator where the pressure in the PC would drive round the turbine wheel, as the tangential jet nozzles exhaust struck the non-modified turbine blades.

10q  Original Equipment Market is normally a closed shop to a small innovative team, unless their IPR can solve problems that they camnnot solve in-house, or by the use of blue chip outside paid consultants.

10r A hot turbocharger wheel needs a cold air compressor wheel/turbine As our design needed to feed turbo compressed air to each end of our RVC, we needed two such wheel/turbines, one each side of our hot turbocharger wheel/turbine. With this perfect sandwich we could now feed high turbo compressed air into continuously open ports, of it’s own dedicated cylinder head in the RVG.

10s Was it foolish for the team to think their economical manufactured hub driver turbochrargers, fitted to each RVC, say 8 per RVC engine?

11 When we put it all together on the white board, group  embarrassment set in, for all we had done was to re-invent the compound air compressor. None of us had given any thought as to how to inject water under pressure, which was to be our prime ETF, without breaking our pledge no valves no timing.

11a  Wiping the board clean yet again, we took a long hard look at the gross inefficiency of our VDSB. We could see that it would get very hot.

11b So out went the conventional cooling oil sump in which the whole VDSB was immersed in.

11c We replaced the oil with water and all we had to do now was build in a water pump.

11d  For the next line of lateral thinking I suggested that we cut the RVC in half using the centre line of the tangential jets.

11e This gave us open-ended cylinders. Slide one over each of the shafts just be the end of the parallel rack, fix inside the wall of the VDSB, and that would see the open end immersed in water.

11f This would allow the linear movement at the end of each rack to act as a piston, as it travelled out of each open-end cylinder.

11g Perfect timing, as each end of each rack would act as a piston to inject/pump water into the appropriate compression cycle, via the never-closed entry ports on each cylinder head of the RVC.

11h  Stories were then exchanged about about old empty plastic carbonated drink bottles, how if filled with the right ratio of air and water, ( note the density of water is 62.5 pounds per cubic foot) it is a lot heavier than water.

Let it all out, (ETF) ad whoosh, up goes the old carbonated drink bottle like a rocket

11i  Stage one was to channel the output of ETF from say, 8 turbochargers, to a  single stage turbocompressor wheel turbine.

Lecture sheet 4 will show how LIAT is made from Lin-Orbital Metox generator,(LOMG), which will electrical dissociate and burn air water, with about as much power as combusted rocket fuel.
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Lecture Sheet 4 

Lin-Orbital Motor Generator (LOMG) to act as a high voltage switch to 

control Linear Ion Array Technology (LIAT)

Files LIAT filmtake 1 VCD mpg Presentatation\zip power-point Dual 

effort file PVC documents Master Preme copy 1

12a The linear motion of our harmonic eccentric (VDSB) has so far

driven the RVC, and timed the water injection. (ETF)

12b Now it must make and time a high voltage pulse/spike.

12c  This is achieved by fitting a a large Sun spur gear on the primary

drive shaft to the VDSB

12d Fit a small planetary gear, two such gears for each parallel rack, one

on either side of the VDSB case.

12e The width of each of the small planetary gears should be able to

accommodate the maximum swash angle of the eccentric stroke.

12f  Now we need permanent magnet rotors to act as if they were

 pistons. For a cylinder tube make a short tunnel out of a continuous coil

 of wire.

2g  Have one such assembly outside each end of the RVC. Let the high

spinning rota move in linear motion (driven by the planetary spur gears

via the larger Sun gear.) and travel right through the tunnel of coiled

wire and completely out of the other end, before the linear linear motion

pulls it back into the tunnel and out of that end, creating the stroke of

the LOMG

12h  LOMG is a modern version of a Micheal farady Induction Coil,

which will produce the high voltage pulse/spike.

12i  As it is on the same same shaft as as all the other kit, spark, air, and

water injection will all arrive at the right place at the right time, still

without valves and timing sequences

12j  It now dawned on us that the efficiency of out design components

could go as low as 5% or might climb to12% if we were lucky.

12k  What we needed was a powerful start-up prime mover. We found

an old but working forklift truck, out came its heavy-duty brushed DC

motor and all the control circuits.

12J  The only design change which we had to make was to run AC

continuously through the battery charging circuit, to get our full DC 

drive current.

12l  Lecture sheet 5 deals with how our IPR on Energy Accumulator 

Transfer will be used to make possible the use of our IPR on the back EMF Harvester to finally deliver LIAT.
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Lecture Sheet 5

Deals with how our IPR on Energy Accumulator Transfer will be used

to make possible the the use of our IPR on the back EMF Harvester to

finally deliver LIAT.

Open file 

No3 E.A.T. complete. doc

No 6 Energy churn agrement.doc

No6 Sorted.doc

Energy Accumulator Transfer. (EAT) 

13 What is EAT? Put your hands together as if in prayer. Next drop

some elastic bands over your fingers. Then pull your hands apart putting 

energy into the elastic bands, then release that stored energy as you let

the bands pull your hands together.

13a The team had to play with elastic bands and visit the white board on

several occasions until Ross, our production engineer, finally solved it.

13b  Not Eureka! this time, but Archimedes. He invented the self –

reversing return screw thread. As if to prove his point, Ross picked up

an old pump-action screwdriver. Hold the shaft by the freewheel collar

then push down on the handle, and the shaft will revolve in the collar.

13c  Release the handle and the spring returns the handle to its original 

position. Now that Ross had shown us how to do it, all we needed

was some very heavy-duty bungee cords

13d  The Archimedian principle will only work smoothly if the shaft is

in a continuous state of rotation.

13e  Energy into the shaft would put energy into the follower nut. The

Bungee cords would have to be attached to the follower nut, since it is

the nut that moves to and fro.

13f  As the DC motor had plenty of power, we would build our EAT

onto the same drive shaft as the DC motor but the opposite side of the

VDSB.

13g  Using th self-timing in the circuit we could switch the DC motor

off and back drive it with the pulse in the bungee cords.

13h  Now we’re pulsing out the back EMF as a rated amount of current\

power from the commutator and out through the brushes.

13i  It is this low-voltage high current harvester from the DC motor that

provides the meat that will give us PD for LIAT.

13j  When the Harvester is cut off for 30-60 seconds, ie:- when the DC

motor runs as a motor to put power into the bungee cords, the whole

chemical reaction goes into reverse and ends up as our targeted ETF

super heated steam.

13k  Super heated steam will have an insane reaction with our hot stage

turbocharger wheel/turbine

13l  Next to be ‘over-revved’ will be the supercharger turbo air

 compressor wheels.

13m All this energy/power set free from the disocciation of water into

super heated steam, the output from our high temperature chemical

cracker, has to be exported somewhere.

13n  A good place to send it woul be a scaled down conventional super heated steam turbine.

13o  Re-import some of the electrical power as CHEAP to keep the

show on the road.

13p None of the team, who wound me up to produce these lecture notes

on CHEAP, would be foolish enough to use the words over-unity, ie:-

more CHEAP energy out than in.

13q Nor would they sign to say they had contributed to what could be

called CHEAP scientific gobbledegook.

13r  I will allow myself to be influenced by their joint decision and shall 

tongue-in-cheek sign off with the name of my alta-ego.

13s Should you have read these lecture sheets ‘cold’, prior to attending 

one of my workshops, you must ask the same question.

Is this or is this not scientic gobbledegook?

Should you say, “YES”, then I say unto you, “You are not alone!”

Nobel Laureates come in all shapes and sizes and from all disciplines.

Dr Rheinhard von Clampstein.

‘My work is incomprehensible to all but the best’

CHEAP Electricity = Cheap hydrogen gas.

Cheap hydrogen gas = Cheap fuel for hydrogen powered fuel cells.

= CLEAN AIR MADE ON THE CHEAP!

